LE€

Examples of Linear Word Problems

Consecutive

Always start with x

Numbers X o+ XH| o+ X2+ ...
1 Z 3
EU-
Example: The m‘!of@:onsecuﬂve integersds44¥. Find each integer. k ;
\ & ) e "H" L.

e B K 4 Xr| 4 X4 4 X43 = 4y L\»»«j-\“a é‘ X=109
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onsecutive Always start with x o g{,“’

Even/Odd Integers

X w X4 Xt .. OR X+ XD+ x4+ ..
2 4

6 ]\/3 5]

’r\r\nﬁ\(mue, o Aap of 3 & add 2 €ach H w~2_,

Example The MOfonsecuhve-umbers §333.

255 + = 33
X+ 32 4+ xt =333 33 x=109
109 W "™ 13 BK = 327
When "is" is present use the inequality sign for less than "<"
Is Less than

Example: The sumiof 12 and fWi€é a number is less than 50.

AX - |X & 50 2x «3% Tx<|q

=i -\ > = 2 T
Refers to subtraction
Less than “. . .less than a number” should be written as x -

* a number less than . . ." should be written as x -

Example: 12 fessithan fWi6& a number is 60.
AX— (D = O Iw =T

[ X = 3B\
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Examples of Linear Word Problems

No more than

<
Example: The product of seven and a numper increased by 10is no more than 140.

I Xtip) £[4D

<
Qe +HI10 = I‘-lD—7_X < 1o X+10 %530 X £ |o

v

At least X £10
Greater than or equ '

No less than

Example: The sum of three times a number and five is at least 20.

AxL+5E Zan
B 2.5 =5

is same amount
same as equals
as much as  results

Example:|The product of a number and five{is_.,g_gygéljo@e product of the same number and four

decreased by 12.] .
SX = HY— 13-

x=->]

Average

Find the sum of your items (usually plus x)
Divide by the total number of items you have

Example: Jimmy’s first 5 unit test grades werg| 90, 74, 82, 68, and 76sz it possible for Jimmy to have
a B test average (B is an 80)2 If so, what would he "he need fo make on his next test?
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